


2

12 = 1

22 = 4

32 = 9

42 = 16

52 = 25

62 = 36

72 = 49

82 = 64

92 = 81

102 = 100

112 = 121

122 = 144

132 = 169

142 = 196

152 = 225

162 = 256

172 = 289

182 = 324

192 = 361

202 = 400

212 = 441

222 = 484

232 = 529

242 = 576

252 = 625

262 = 676

272 = 729

282 = 784

292 = 841

302 = 900



➢Square of two digit and three digit number-

782

562
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➢Multiplication

➢Question 1- 108 × 106

➢Question 3- 96 × 94
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Question 1- ?2+ 452= 402– 202 + 7191 - 53

A.81

B. 89

C. 79

D.29

E. None of these
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Question 2- (243)2 ÷ (27)2 × 36 ÷ 12 = 9?

A.1.5

B. 2.5

C. 3

D.4.5

E. None of these
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Question 4- 150% of 460 + 24% of 650 = ?

460 का 150% +  650 का 24% = ? 

A.731

B. 844

C. 866

D.846

E. None of these
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Question 5- 7569 ÷ 12 × 104 = (? )2 + (23)2

A.10

B. 12

C. 16

D.14

E. None of these
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Question 6- 7634 + 84 × 21 – 16 × 23 - 612 = ?

A.5309

B. 6220

C. 8220

D.2220

E. None of these
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Question 7- ?2 + 592 + 162 × 11.11% = 712 + 800 × 47% + 113

A.47

B. 27

C. 57

D.77

E. None of these
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Question 8- (16)0.75 × (65536)0.25 ÷ (256)–1 = 16?

A.4

B. 4.75

C. 6

D.6.75

E. None of these
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Question 9- 282 − 87.5% of 440 =?

A.199

B. 299

C. 499

D.399

E. None of these
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Question 10- 4
5

7
× 4

2

3
+?= 25% of 158

A.11.5

B. 17.5

C. 24.5

D.22

E. None of these
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Question 11- 48 % of 300 + 400 % of 16  = ? % of 50

A.208

B. 416

C. 212

D.412

E. None of these
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Question 12- 185% of 500 – 46% of 1650  = 5×?

A.1600

B. 1200

C. 1244

D.1684

E. None of these
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Question 13- 6 × 3969– 45% of 600 + 1872 ÷ 26 =?

A.210

B. 280

C. 120

D.180

E. None of these
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Question 14 - 13 × 26 − 1196 ÷ 26 = ?2+261 ÷ 87

A.17

B. 11

C. 13

D.15

E. None of these
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Question 15- 2704 ÷ 7332 ÷ 564 =?3+1732

A.12

B. -12

C. 14

D.-14

E. None of these
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Question 16- 40% of 440 - 33.33% of 540 + ? = 100

प्रश्न 16- 450 का 40% - 540 का 33.33% + ? = 100

A.100

B. 104

C. 96

D.94

E. None of these
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A.171

B. 271

C. 474

D.471

E. None of these

Question 17- [(4/5 of 800 + 2/7 of 126) – (45 × 4 + 40 × 5/8)] = ?

प्रश्न 17- [(800 का 4/5 + 126 का 2/7) – (45 × 4 + 40 × 5/8)] = ?

https://t.me/mathbytarunsirmepl



Question 18- 11.11% of 7200 + 23.23% of 9900 = ? 

प्रश्न 18- 7200 का 11.11% + 9900 का 23.23% = ?

A.2100

B. 1100

C. 3100

D.4100

E. None of these

https://t.me/mathbytarunsirmepl



A.4200

B. 5200

C. 4400

D.6700

E. None of these

Question 19- 14.28% of 2100 + 42.84% of 700 + 23.23% of 18900= ?

प्रश्न 19- 2100 का 14.28% + 700 का 42.84% + 18900 का 23.23% = ?

https://t.me/mathbytarunsirmepl
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